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PSLE HIGHER TAMIL (0017) 
 
For Examination from 2017 
 

1. ­�p©��â g¡bkw�wll 

 

e�b�kwp§llÒwÒl u³r�®Ð wÜπkwp§�Å�â g¡bkwm �®Ðe­bÌ´l �×àm 
krÅμm uh�³ ­b�ÅrwÒâ wÜ×l g�hÅwhÑ ¢h×gÅÜÚÅg� kzm. eÝgÅ, 
u³r�®Ðt g�rÈ u³r �n�hÝt �×âwhÑc g�b�kzm Åhw´l ah­n�llÑ�. 
§�t�l ­ÜÚm eÎ��l kx³ i¼ e­bÌt�×âwhÑ ­�pπ�m g¡bkwtg�b� 
u³r�®Ðt g�rÈt�bll Å�Åh­kwp§��llÑ�.  

 
u³r�®Ðt g�rÆâ ­�p©�� g¡bkw�wll πâÅ¼­bÚ:  

 

• §¿Æ�­bÝ §àÅlwhÑ kÐn� §�t�t �m ªºn��rhÅp ª¿p§�t�m 
Åhw´l u³r �n�hÝt �×âwhÑ a�p§h�³bwkewb�� ah­n� 
ÆÝbkwÔkz i¿kw�p πhËwÒâØ Æh�³Òt�l. e�t�kwb��bw,  

- oxt�Ø�l 
- wb¹�wbº³th�k w��Ø�l 
- w¼t�wÔkzkxh�g³ ullÑ oÜÚh­ gÅÜÚh­whÑ aØ�l   
- o¼ w¼t� �º al¿� �ÅÚ eâ§h�k wb¹��wgÑb� ÆÑkz�l 
- h­³k w¼th� al¿� μkx³k w¼t�whÑ ah�³bÑ�wb��l 

 
• §àÅlwÒl i�me§ÜÚllÑ a¼�e�bÜwÔkz i�mg¡bkxp e§b¼ll aØ�l  
 
• ewb�kwp§�m w��h¹t �h¿pªkz qÜ× w¼t�whÑ¶m �­� 

e���whÑ¶m �º³bwÈm e§b¼t�­bwÈm eÎ��l. e�ÒÅbÝ 
e­bÌ¡h�´l e§b¼t�­bÝ §¿�¹p§�� e�bÜgwbhÅh³p §³â§�t� 
¢¹l§�Èm §t� ah­pg§b�m w¼t�t e�b�rc�g³b�m w��h¹h³p πhË³× 
eÎ��l 
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2. g�rÈ ah­pªμh× 

 
itg�rÈ e­bt�m i¹�� ÆÝbt�bllwhÑk ewb���. 
 

ÆÝbt�bll 1: w��h¹  
(50 ¢®��wll, 40 ­�pe§�wll, 40%) 
 

ivÆÝbt�bÒl i¹�� ÆÝbkwll i�me§Úm. aÅÜÚll oâÚ �h¿pªm �ËÂm 
ewb�� ah­¶m. ­Üe×bâÚ e�b�kw ÅºwhÑk ewb�� ah­¶m. ivÆ¹�� 
ÆÝbkwÔll ­b�År qg�àm oâØhÝp§ÜØ 150 e�bÜwÔkzk zh×³b­l o¼ 
w��h¹ eÎ�gÅ��m.  
 

ÆÝbt�bll 2: e­bÌp §³â§b�m w¼t�Ø�Âm  
(1 ­� 20 ¢®��wll, 60 ­�pe§�wll, 60%) 
 

ivÆÝbt�bÒl e­bÌp §³â§b�, w¼t�Ø�l kx³ÅÜh×e³b�� e­bt�m 23 
ÆÝbkwll i�me§Úm. ­b�År ahÝt� ÆÝbkwÔkzm Æh�³ÒkwgÅ��m.   
 
ivÆÝbt�bll ‘a’, ‘k’, ‘i’ kx³ πºÈwhÑ ullÑ�kx³�.  
 

‘a’ πºÈ (e­bÌp §³â§b�) 
 

ipπºÆl ‘πhË �¼t�m’, ‘Åbkx³�whÑ μ�te�Î��l’ kx³ �h¿pªwÒl 
§t� ÆÝbkwll i�me§Úm. ‘πhË �¼t�m’ eâàm �h¿pπâyÐk 
ewb�kwp§��llÑ §z�´l gwb��� rn� πhË³bÝ e�bÜwhÑt �¼t� 
ace�bÜwÒâ �º³bÝ Å�Åth� eÎ�gÅ��m. ‘Åbkx³�whÑ μ�te�Î��l’ 
eâàm �h¿pπâyÐ i�me§Úm rn� Åbkx³�whÑp e§b¼t�­bÝ e�bÜwhÑk 
ewb�� μ�te�Î�gÅ��m. avÅbÚ μ�kwpe§Úm Åbkx³�wll oveÅbâÚm 
a�Üz μnh�³ Åbkx³t�â w¼th�g³ ewb��¼kwgÅ��m. 
 

‘k’ πºÈ (w¼t�Ø�l 1) 
 

ipπºÆl wh�h³e³b�� i�me§Úm Åb�pªk w¼t�Ø�Àl u³r �n�hÝt 
�×âwhÑ¶m e�blÅÑth�¶m g�b�kzm Åhw´l kÚ ÆÝbkwll i�me§Úm. 
ivÆÝbkwÔll ¡bâz �³Æh� ÆÝbkwÑbwÈm i¹�� e�bÜe§b¼ll 
ÆÝbkwÑbwÈm ah­¶m. i¹�� e�bÜe§b¼ll ÆÝbkwÒâ e§b¼hÑ u�rt�m 
e�bÜwhÑk w¼t�Ø�l §z�´À¼n� ah�³bÑ�w�� eÎ�gÅ��m.  
 
‘i’ πºÈ (w¼t�Ø�l 2) 
 

ipπºÆl tr uh¹¡h�p §z�h³e³b�� i�me§Úm Åb�pªk w¼t�Ø�Àl 
u³r �n�hÝt �×âwhÑ¶m e�blÅÑth�¶m g�b�kzm Åhw´l qÎ 
ÆÝbkwll i�me§Úm. ivÆÝbkwÔll kÚ �³Æh� ÆÝbkwÑbwÈm oâÚ 
e�bÜe§b¼ll ÆÝbÅbwÈm ah­¶m.  
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3. g�rÈ ÆÅ¹ a��Åh�  

e�b�kwp§llÒ iÚ�t g�rÈ 
u³r �®Ð (0017) 

 

�bll 

(g¡¹m) 
e§b¼Ñ�kwm ÆÝb Åhw 

ÆÝbkwÒâ 
e��khw 

­�pe§� 

(­�p§ÑÈ) 

 
1 
 
 

(50 
¢®��wll) 

 

 
w��h¹ 
[150 e�bÜwÔkzk 
zh×³b­l] 
 
1. �h¿pª 
  (�Ël ewb�kwp§�m) 
 
2. wh� 
  (e�b�kw Åºwll   
  ewb�kwp§�m) 
 

 
 
 
 
 

w��h¹ 

 
2 
 

(o¼ ÆÝbÆÜz 
Æh�³Òt�l) 

 
40 (40%) 

 
 

 
2 
 
 

(1 ­� 20 
¢®��wll) 

 

 
e­bÌp §³â§b�m 
w¼t�Ø�Âm  
 
‘a’ πºÈ 
1. πhË �¼t�m 
 
2. Åbkx³�whÑ  
  μ�te�Î��l    
                    

 
 
 
 
 

�³Æh� 
 

�³Æh� 

 
23 
 
 
 
5 
 

5 

 
60 (60%) 

 
 

          
10 (10%) 

 
10 (10%) 

 

‘k’ πºÈ  

3. w¼t�Ø�l 1  

 
�³Æh� 

 
6 

 
16 (16%) 

 

‘i’ πºÈ  

4. w¼t�Ø�l 2 
   

 
�³Æh� 

 
7 

 
24 (24%) 

 

 
 
 
 


